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FIRST TERM GRAMMAR EXAM
First year English student

NGME: e, Mark: o,

1. Put the verb into the correct form. Sarah and Joe are old friends. They meet by chance at a
train station. (7/7: 0.25)

Sarah: Hello, Joe, I (hot see) ..I hanev't seen....you for ages. How are you?

Joe: I'm fine. How about you? You.....Jook...... (look) good.

Sarah: Thanks. You too. So, .....are you going...... (you go) somewhere or....are you meeting..... (you
meet) somebody?

Joe: I....'m going ...... (o) to London for a business meeting.

Sarah: Oh..... do you often go...... (you often go) away on business?

Joe: Quite often, yes, and you? Where are you going?

Sarah: Nowhere....I'm meeting..... (I meet) a friend.

Joe: How are your children?

Sarah They're all fine, thanks. The youngest .....has just started..... (just start) school.

Joe: How .....is she getting on.... (she get) on? ....does she like ... (she like) it?

Sarah: Yes, she .....thinks ... (think) it's great.

Joe: ..... are you working ...... (you work) at the moment? The last time I ...... spoke ...... (speak) to
you, you .....were working....(work) in a travel agency.

Sarah: That's right. Unfortunately the company ..... went out ...... (go out) of business a couple of
months after I.... started ... (start) work there, so I..../ost.... (lose) my job.

Joe: And ....haven't you had ... (you not have) a job since then?

Sarch: Not a permanent job. I (have) ..... have had....a few temporary jobs. By the way......have
you seen..... (you see) Matt recently?

Joe: Matt? He's in Canada.

Sarah: Really? How long...... has he been ...... (he be) in Canada?

Joe: About a year now. I (see).... saw..... him a few days before he.....went...... (go). He .....was......
(be) unemployed for months, so he.....decided..... (decide) to try his luck somewhere else.

Sarah: So, what.....is he doing...... (he/ do) there?

Joe: I have no idea. I......haven‘t heard..... (not hear) from him since he...../eft.... (leave). Anyway, I
have to go and catch my train. It was really nice to see you again.

Sarah: You too. Bye. Have a good trip.

Joe: Thanks. Bye.



Z. Put the verb into the most suitable form. Use a present tense (simple or continuous),
*  will X'l), or be going to.(5/5: 0.5)

Conversation 1 (in the morning)

Jenny: ....are you doing...... (you do) anything tomorrow evening, Helen?

Helen: No, why?

Jenny: Well, would you like to go to the cinema? Strangers on a Plane is on. I want to see it, but I
don't want to go alone.

Helene: OK, ....IW come.... (I come) with you. What time shall we meet?

Jenny: Well, the film ....starts...((start)at 8.45, ... N meet........ (meet) you at about 8.30
outside the cinema, OK?
Helen: Fine. I.......‘'m going to see..........(see) Tina later this evening I.......... Nask..... (ask)

her if she wants to come too?
Jenny: Yes, do that. I'll see you tomorrow then. Bye.

Conversation 2 (fater the same day)

Helen: Jenny and T ........are going.......(go) to the cinema tomorrow night to see Strangers on a
Plane. Why don't you come to0?

Tina: I'd love to come. What time ............ does the film start....... . (the film start)?

Helen: 8.45.

Tina: (you meet) .............are you meeting............ outside the cinema?

Helen: Yes, at 8.30. Is that OK for you?

Tina: Yes, .....IH be......... (Ibe)there at 8.30.

3. Complete the second sentence so that it has a similar meaning to the first sentence.(4/4:
0.5)

¢) Tony hasn't been to Paris before. It's the first time........ Tony's been to Paris...........
d) We haven't been swimming for ages. It's a long fime since.......we last swam.................
e) I am on the tenth page of this letter I am writing.

So far I've....written ten pages........ of this letter.
f) It's over twenty years since they got married.

They have..........been married for more............. than twenty years.
g) The last time I saw Dick was in 1995. I haven't ..........seen Dick since 1995.............
h) Mary and Alan's wedding is next week.
Mary and Alan are ............ getting married........... next week.

4. Finish the following sentences. (4/4: 01)
Q) ATTEr The 1GIN STOPS ...ttt st e
b) I'm going 10 STart MAKING INNEI ..ot e e
AU TR R Eor e TR R —————
d) When T got ROME 10ST MIGHT ..o oo ecommmsninsecssensessanssssssessessasssasssssssenisssasiis e s sbes 18588 STV
Good luck



